
Termes Manquants (J)
Trouvez la valeur de chaque variable ci-dessous.

x ÷ 6 = 5 r ÷ 4 = 3 48 ÷ z = 8

y ÷ 7 = 4 u ÷ 5 = 6 s ÷ 8 = 8

t ÷ 5 = 2 c ÷ 7 = 2 12 ÷ n = 4

4 ÷ j = 2 t ÷ 4 = 6 c ÷ 5 = 4

q ÷ 6 = 4 35 ÷ s = 7 k ÷ 7 = 8

12 ÷ a = 2 9 ÷ l = 3 o ÷ 7 = 8

10 ÷ k = 5 w ÷ 5 = 5 32 ÷ i = 8

d ÷ 4 = 2 20 ÷ x = 4 21 ÷ s = 3
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Termes Manquants (J) Solutions
Trouvez la valeur de chaque variable ci-dessous.

30 ÷ 6 = 5 12 ÷ 4 = 3 48 ÷ 6 = 8
x = 30 r = 12 z = 6

28 ÷ 7 = 4 30 ÷ 5 = 6 64 ÷ 8 = 8
y = 28 u = 30 s = 64

10 ÷ 5 = 2 14 ÷ 7 = 2 12 ÷ 3 = 4
t = 10 c = 14 n = 3

4 ÷ 2 = 2 24 ÷ 4 = 6 20 ÷ 5 = 4
j = 2 t = 24 c = 20

24 ÷ 6 = 4 35 ÷ 5 = 7 56 ÷ 7 = 8
q = 24 s = 5 k = 56

12 ÷ 6 = 2 9 ÷ 3 = 3 56 ÷ 7 = 8
a = 6 l = 3 o = 56

10 ÷ 2 = 5 25 ÷ 5 = 5 32 ÷ 4 = 8
k = 2 w = 25 i = 4

8 ÷ 4 = 2 20 ÷ 5 = 4 21 ÷ 7 = 3
d = 8 x = 5 s = 7
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